S
j £

P

TS

P A

£
.%?

SEN
!

pig
AN

)f 5

=

f

FAHZ

/Aljsz

N
~

Hi

=)
LE

1

TS o

%

1
o1

==
=

;
N
3
o

B (medi

i

e

aRiTe

h

=l
./

r 4

i

BR
S,
=

4 o
CNL o1 v

o
TI1CKE

a2

(B)

0 P(B)~0 o

D

e
(A

0-H P

ally exclusive eves

U

.
L

 (mu

NN

g

AB B

A
5

I.

depen

{in

,o

Ry RE G I8N

N

TOTS )

(mean squared er

— { B 2 4

Hy




£ & oLk mE
i ’ s %MH S _hmm wa o B
: e IS M & & 4y prid

.
T
=
P e S
N
o et |
e
£
N
,
I
]
A
o
\#

) L = .
ﬁ»\ g ‘. ’ yﬂ B 41 ! ﬁw,/. o ua.ma/w 1A mthu
- . N 3 o~ T . ir
VA L% e %sﬁ L & = uAH =
- . o= = =l L I R
g e A 7 < N o P AL
B s a Sy NN e, A £ &
an = o . S e im
K £ & _ SR qe o
B > S B A o
i A & R i N =
> - T e = &
o o ¢ < o, Er — o~ y i
£ iy 0 s = & A
K BeSe U ,_»wm& & | rI BES mmmﬁv Eon afmn
b i 4 i s oL B L
A - e < T T -k B e = m
45 y _ S <o
& o ‘ » I =T
o b /ﬂ/..\ A \_y,/ e E'X\A! = m@\
~ B o 55 dom Ho= woo
o . L ; R " T = "
oS o= 2 w ROF M = B
S e R & M s o
%@H s N t/m/\v mmx mw “%z ,,j,/uw WeH ) mﬁ
= =2 o & = K A
g T Al gl T ~ - B
m - - %) HI s | o - \“,/ﬁ\, {0
RS - TN R o fm N 2
IS DX i AN - =
') [EEs: BT e noy ) 1] J4
2 Vi S \ Vg | e
o RS ? + R - M S ﬁ% <
th - - 118 - - 3 S i
= vl S k2] W = m R
.2 A S e =l o R N K3
e o - + prey \ Rins e " A.Jx H
= .v N BilE: i = ASal M
5 Y s e ~ r =
D U i 3 - e = ° @/@J ) EE
Vi Py H& ~ 2 e ,ﬁ@. 4y e N
ra < B, ) -+ oo IR i
o & S < 5 o e
R - = e C O i o
PR - B A I =R |- =
Nt J b, O 5 el [~ i
o . o T3 \E o W ..“;WE H;VA» T
B ~ R ~ DR = =
A N -~ - e \s/ = - .HE u\% m.w Ffm
£rr ot ﬂ 3 ﬁ zmw S v H- # '
I ¢ = z [l o ° A ’ < -
b =@ s = § s & W S 3
R ; SRR B g ¢ = K
N ™ vt 1 - © 1 aal e & Nial
B & Vi : ®’K Ay 3 SR Ko
St S e < A oy 4 ] AEz
= VA “ @ IM /,Ny: 78] HEW A Wul/ ° UE:K i\MJ
<t N . .Ir/ J e .».,.h/’ “~
S N ST xS ¢ =5 H T #H ol o

1
Z
1
2.
1
9]
L

D
)

distribution) °




=
i
la
i
8
i
hY

\i”./ ﬂ.
£ ﬂm L Eﬁrm)m <
I £ an i
~ B 4 i
Ned w < 7 \
" 3 e i o
«.nm ¢ = g § Ann
5 A 157 - 4
— “ m ,W// 1E r_m/N
i &, o) a <
o 1 , :
el e < 5
O B i
&N ..JH_E M.EJ o Z W _m%u
. 1 ) - !
I w S 5
%m\www/ K _ :W 1 A 4§m MHAA
W 5y 4
B & i
) e ’ & 2 s
=220, D ,rwmwwm LWW/ WMW vm

TR N N s o
- et

VA ./z/,l u N o] u

o '~

W h O e ~ »

e Emu% & £, e m

e 4 5 m _ X 3
= ,ﬁ\ - = A
~ SN Y @&U\ ﬂv | mh d
b = _y . )

ok 11

T=
.
=
E
N o
)=
’;
%

Slits} £ = #E =
mooon m S 45 om
P o ; i ﬂ;
= 4z O e R O
« ¥ o2 B - R
S il = 2 ]
ST ¥ - E

: ot o N -

}
!
)

Fi

(e
S

Al B(
) ER
X} B

Wop o
X,

“
{
E‘f:\‘

e
<
co
Uiz
Pas
2
;f‘i\ %
=,
P
£

o o - o

A C

e - =

A
3

t

e
=

{

S
==

1

H

i /‘;% A‘U é/\:}




£OROE R — oo oM
o o — e = : ,
-+ IH I & 2 o i
S 3 < B

™ M%;/; l.,, I
b S = !
N i i : °
- o ,w\,@ 1 e - !
~ 3= e > X
o o~ S ! ._.5”, =1 (@
(e ] =)
- b . = -
5 08 W o= ] -
=4 3. iy o L] 2
= gl wﬁm 1 = .ﬁﬁ Wﬂ 3
o - 4 =
£ < e . I o ]
o e _,“E.v@ L7 be 1
o T i _MA ) ! 30 )
e ™™g r,.m\v =4 T~ e
o] ,AﬂA il
?\m - WM tmi \:/\ +§ﬁ/u UL
[N o i E i,
IS o
! m_u. <O -~ - MJMM “&4.
= = & =
- o - o v SN
VA 3 L= <~ o o) W MIJ
B [ P ! o =) i =
N B o N B 3 Ny [} =
g o : 5 = ] s
o F : = 3 = ! v
; QM b lag! m.m\.\u amﬁ‘
- m & L i B
= 8 i & N © B
—t ﬂwx M’ - © i ,ﬁn/ Him
1 3 ; L= 9 w s ) L
3 = N =
- . - ) + im
reed Rxny 3 = 5 - e
I T ww& R V)M L &3 5=
T o vl = =
e i H = vy
o me . P - - I R
Ex| ) juus| S o e L . 11
N Q - 332 o o ,ﬁm T = %N
AT s A =
i . S < & Sk
5 o T Sz - < T - S S
11 5 /Ww 3 mew wﬁ.& 1 <
g 2 e . ,mmu wﬁ# R R
IUA »\ “/ [t iy ~
w1 a

- o~ o o

3

(
@

©
=

-
SN

e
O v

N

THEEH

=

I

T
H

z

~F

?‘E

B
=

i

7

9f’)L
U

e

e
7

A

i

#) R* (adjusted R*) ZREE




estimator; B

bl

o

with

3
J

tion
it int

1]

ib

i

i

istr

ion

ut

oY

£
ES

ol d
mal d

¥
i

oy 1
irio
N

sents the lar
I

=
=

i

NOT

I

1
i

5

M
)
*
i
-
o
ria

F=Yn]

ate

€ interval
Ve

gt

LS estin

¥

lion (not necessary

Y

()

1 an exponential di

-
i

on
1s 4.1 through 4.5,

estior

¥
4

ME

1

1

o answer Qu

i

istrib

L
ichisft

iZ
h
oim ad

{

Al

=Wk
R =

e W
)

=

o K
ie

i

-
£
ir

ple
11

101

o

Ia)
AN “" g
a san
at

¢

,?eyf e
M

€
or

b

i

51
i

nly the answ

wer (0
—0.8,~0.4,-0.2
X

the ans:

et {

3

& aown

4+
- . 2 T . 1
mean 4 andvariance o <co. Let ji= ;

(10%) Let X, X,,...
unknown parameter.

(10%) L

sample, please generate (siz
(10%) Let X, X,,..

less than or equal to #/3.
estimator ji.

(10%) Use the following in:

Multiple regression was used

Dependent variable:

Just wri

2.
3.
4,

I.



pers,
£

3

cn

iy

o

-t
4

o
=
4
=
i
22

1

£

2

N
=

R
3

stock

e
5% Lo}

-

£+
£ 1

1

-,
A
bl

&
2

"

22

5

i

N
i
i

AR A

5

0.71

i

i}

b
..

t
oy

o
=
<
)
e

©

=

o]

w

oo
f)
m.i
£
O
Ry

B

Lo

15ty

ent variabl

H

=
i
-
i
Py
o
g

i variabi
=1In

e Cap

2
AW

o)
72
a4
$=4
=
Q
o
2]
[<2)
a4z

Ty
A
i

i

a Fortune 500 sioc

T

Ey

Industry Ranking

FEEroey
dark

H
&

1

[owed
g
N
X
o
e
ot
Bt
(=]

E

Indenends

Depend
The reg

abl

tribut

v

&+

a

B

¥
ES

e

.

Drarbin-%
AL 0.522.

B. 0.046.
C. 0.710.
D. 0.900.

aral

-

Breusch-Pagan

Regression

=
£ et
o e
£ o
< ad

T

4.1 The expected amount of the stock return



3

g5 Vnﬂhon and is in an in

AL 2.88%.
B, 3.98%.
C. 1.42%
D. 2.10%.
4.3 Does being a Fortune 500 stock contribute significantly to stock returns?
A. Yes, at a 10% level of significance.
B. Yes, at a 5% level of sgi rificance.
C. No, not at a reasonable level of significance

w

. No, not at a 15% level of significance.

-

4.4 The p-value of the Breusch-P

g} 1 k4
be Tnarar and emer 1
ne lower and Jyu@‘ i1

data and the info

are (.40 and 1.90, respectively. Based rmation in the tables
A only multicollinearity.
B. only serial correlation.

?‘ 3

C. serial correlation and heteroskedasticity.
D. only heteroskedasticity.
4.5 Ron Working incorrectly uses the standard error of estimate instead of the standard error

in his calculation of the confidence interval for the predicted value fro; inear regres

observations. All else equal, the confidence
A. the same as the correct confidence interval.
B. wider than the correct confidence interval.
C. narrower than the correct confidence interval.

D. wider than the correct confidence interval only if the R® is greater than 0.50.






